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QUESTION ONE (30 MARKYS)

a) Explain the distinction between a distributed operating system and a network operating system.
(6 marks)

b) Why should the multi-threaded process model be preferred? (6 marks)
c) Explain the following terms as applied to synchronization of processes. (6 marks)
i) mutual exclusion

i) critical region

iii) semaphore

d) In the context of distributed operating system, explain the term distributed naming service
(6 marks)

e) Explain the basic concept of events and notifications in a distributed system. Identify the components
of an events and notification system. (6 marks)

QUESTION TWO (20 MARKYS)

In the context of an interrupt, explain the concept of process control block. Identify the
information stored in the process control block. (20 marks)

QUESTION THREE (20 MARKYS)

a) In RMI name and explain the three common invocation semantics and the fault tolerance measures, if
any, used to realize them. (12 marks)

b) State the main components of Distributed operating system. (8 marks)

QUESTION FOUR (20 MARKYS)

Discuss the main issues in designing a distributed operating system. (20 marks)

QUESTION FIVE (20 MARKS

a) Explain how process creation in a distribution environment differs from creation in a non-distributed
environment. With regard to the distributed environments explain location policy and the considerations
that might influence it. (10 marks)

b) Outline the operation of a system in which multithreaded web browsers (clients) access a
multithreaded web server. Assume that the latter employs the worker pool architecture. Highlight the
advantage of this system over one where single threaded clients access a single threaded server.

(20 marks)



